il

g
=
s
i

1. ¥¥4
ez TEN 12 A R T K R A 275
JEI TS H) KRB AR s R i A R e
) RIFFRPBR ATHB o X AT Hi A
2. EBEAR
1) FEF4 IRIEERE ST GHERR

365 H H &fn 74 44 1H

2) JE1THIR
£ ofn 8% 3H3LH

3) &FEtHM
A, T8 RIE L O FACKIL O EZ HEg L LT, HFKFHA

2T OHEHTH D,

4) FEHBNA
MWEAKHHE X

E sz TR R



i
I
St
%lljll
I

EBA | T R KA R E B FRA
H H — R
THH - T - R A7 ¥ & & KA OB ORR
— A = 1 4,969, 527
EHETRAL 2y 1 4, 866, 769
HUF KRS =X 1 4,469,060 | HEAKNEFERE
2 &P
R RO
130 =]
ERHERE (BLTL)
1 =X
Fr——e 2 1 281, 709 | FFKNLLELR
5 [=]
ERHEEE (HF)
1 =
HFEKEHRE GUEHRED
3 A
HFEKERE OKEDH)
3 S
%%Eﬁ%ﬁlﬁzﬁk% ﬂ 1 116, 000 %%Eﬁ%&ﬁzﬁk%
1 =
i = 1 102, 758
TR e = 1 102, 758 | ik zsimey (KF+1)
1 =
EERA A+ MR = 1 4,969, 527
R = 1 3, 500, 473
EA Y = 1 3, 500, 473
— R = 1 8, 470, 000

-1- E sz TR R



== /oA W =
B PNER
EBA | T R KA R E A
H H TSR A
THH - T - fER] A OB ORR
AT A = 638, 190
(R 2 =X 638, 190
WS EER =X 638, 190
1 =X
EiS T 52V 319, 620
EiST] 52V 319, 620
e = 184, 200
1 =
Z DA = 135, 420 | ZABAHIRE S OVERR
1 A
B (ZOtsmER <) = 957, 810
Z DA = 515, 780
— R A = 786, 410
NS S = 2, 260, 000
FRATSES R = 10, 730, 000

E sz TR R



